
Multiply by Negative 

Powers of  10

Easy

Medium

Hard

-

-

-

-

-

-

-

-

-

-

-

-

-

-

54 x        = 0.54

33 x        = 0.033

61 x        = 6.1

37 x        = 0.037

52 x        = 0.52

17 x        = 0.0017

6 x 10 ¹  = 

9 x 10 ³  = 

2 x 10 ²  = 

6 x 10 ⁴  = 

8 x 10 ²  = 

5 x 10 ²  = 

4 x 10 ³  = 

1 x 10 ⁴  =    

       x 10 ² = 1.57

       x 10 ² = 3.03

       x 10 ³ = 0.507

       x 10 ¹ = 68

       x 10 ³ = 0.298

       x 10 ⁴ = 0.0099



Multiply by Negative 

Powers of  10 (Solutions)

Easy

Medium

Hard

-

-

-

-

-

-

-

-

-

-

-

-

-

-

-

-

-

-

-

-

54 x 10 ² = 0.54

33 x 10 ³ = 0.033

61 x 10 ¹ = 6.1

37 x 10 ³  = 0.037

52 x 10 ²  = 0.52

17 x 10 ⁴  = 0.0017

6 x 10 ¹  = 0.6

9 x 10 ³  = 0.009

2 x 10 ²  = 0.02

6 x 10 ⁴  = 0.0006

8 x 10 ²    = 0.08

5 x 10 ²   = 0.05

4 x 10 ³    = 0.004

1 x 10 ⁴    = 0.0001   

157 x 10 ² = 1.57

303 x 10 ² = 3.03

507 x 10 ³ = 0.507

680 x 10 ¹ = 68

298 x 10 ³ = 0.298

99   x 10 ⁴ = 0.0099


